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(HEHM) | egs1iab (5m) (EFHM) | aegeziauy 5m) | DL
8 ] 5t 5,219 219,552 9,738,415 3,210 2,571,632 1,027
N EFIER 963 [dbJuNT | 47,384 [dbJuimi | 2,130,873 [#is&EFri | 17,647 [JLJWNT | 625,712 |HSREFH | 4,149 | 1
2 |f& i 706 |tE [ T 19,051 | i FHET 2,004,897 |XiHHE] | 15,555 |Xij FHAT 263,933 |giATH 2,303 | 2
3 | A KT 370 |XTHET 12,889 &2 1,003,230 |= 3 8,595 |#& [ 181,688 |XijFHHET 2,048 | 3
4 | kI 203 | Bk 12,094 (& T 572,001 |g1A T 5,737 |@i& T 133,438 [ K=EMM | 1,989 | 4
5 |fRig 175 =35 11,672 |5U%ERFrT | 375,508 | RS 5,577 [ KT 108,408 | -=&HT 1,504 | 5
6 |\ % 174 |2 8,207 (& AT 332,409 |ARLZHT | 5,305 [ KZBRHFT | 102,449 ik 1,430 | 6
7 (W) 146 | KA W 7,173 [k 320,975 [ LT 4,676 |= T 100,566 [XKZAHMT | 1,428 | 7
8 |E 140 [BETH 6,678 [KAMHT | 295,338 [dbJUINTH | 4,497 |BUEREFHT 88,795 |#%=FHT 1,401 | 8
9 | KAEW 131 |E 5 6,052 |5 & 218,437 [ KA HTT | 4,117 |FEH 87,668 |74t 1,341 | 9
10 | K EFy 122 |#iah 5,794 |Hi# T 181,967 | - =&HT 4,037 |Hiter 70,220 |4 & 1,331 | 10
L1 |[ZEmEmT 109 |fTi@Erh 4,912 |8 170,153 |4% ERT 4,036 |E 5 55,117 |[AbJuMiei | 1,321 | 11
12 [# AT 102 [Hi#gT 4,909 |E 5T 166,366 |#:TFHT 3,978 |fTiEH 54,552 |#:)I[HT 1,309 | 12
13 |5t 101 |y 3,715 |47#&h 160,133 |Hiserh 3,707 |BuEH 49,633 |~ R=HET 1,251 | 13
14 |8 98 |\ 3,669 | AT M 127,646 |#:)11ET 3,659 | HT 46,163 [#Hr=HT 1,243 | 14
15 | LT 93 [E-aiT 3,627 |E-pfiH 120,228 [T 3,585 [k BT 38,506 |FRREITH 1,206 | 15
16 |17 80 | KB 3,367 | R 104,247 [E-Fiw7 3,315 [E-Fimi 37,810 |4& FHT 1,160 | 16
17 |k T 72 [kRET 3,335 |#&FHT 100,850 [4T4& T 3,260 |/\ T 35,846 [/ [LIHT 1,143 | 17
18 | X AT 72 BT 3,012 [\ Zcifi 96,512 |&HE 3,050 |#zFHT 35,504 |44 1,111 | 18
19 |4 4E95 i 69 |4 2,893 |m)IIT 73,678 |l T 3,002 |/&)1IET 23,147 |y 1,068 | 19
20 | A0F T 67 | X 2,794 [k BT 70,275 |/K&HT 2,935 | AT 22,888 [HEHafiTH 1,042 | 20
21 |FEmkT 64 |mJIT 2,688 [J)11HT 59,161 |/MHT 2,923 W1l 22,756 |/KZHT 1,040 | 21
22 | e HT 61 |¥zTHT 2,535 | K=HFT 56,329 |HrEHT 2,806 |F-3=HT 22,063 |&E 1,038 | 22
23 |'EH5T 57 |APZHT 2,406 [H1=ET 54,993 |E 5T 2,749 | KEFhEHT 21,930 |fEEERT 1,038 | 23
24 | I 56 |ZEAEAT 2,380 |F23=HT 54,048 | Il 2,741 [¥1EAT 21,482 |/&)IHT 1,038 | 24
25 |55 T 56 |FENT 2,288 |H[IH 51,913 | & 2,662 | K2/ 20,093 |\ %7 977 | 25
26 | &g 54 |HEIEH 2,246 |H)IITH 51,490 |AREAKTT | 2,654 [#H0)IlTH 19,940 |F7=HT 964 | 26
27 |H=1xf 54 |JE)IHT 2,231 | KEFYLTT 51,041 |Ji)IHT 2,652 [H& 1% 19,925 |#& [ 954 | 27
28 | ¥ 0T 54 |ZERT 2,181 [/A(LiHT 50,124 |5 =HAT 2,632 |4 19,281 |FCZ AT 951 | 28
29 ¥ ERAT 52 |HLERETTH 2,140 |ZEERT 49,214 |\ ZcTi 2,630 |ZEFERT 18,584 | S5 911 |29
30 | i) 1B 52 |/NERTH 1,801 |Z&HFETHT 49,097 |BRiFETH 2,548 [HRTH 17,469 |FHAHT 910 | 30
31 | T 45 |SLaiTHT 1,768 i 46,360 |fEIERT 2,497 | F&HT 15,566 |ARE KT 896 | 31
32 |FLRiHT 42 |wEET 1,740 [ XJ)IIw 44,129 |7 2,447 | R 15,248 |[eLE BT 892 | 32
33 [ ET) I H] 41 [H0FE 1,680 | =&y 41,787 | BT 2,429 |FEWkT 15,035 |#@2HT 891 | 33
34 | KJJPERT 41 R 1,448 |/NBR 41,309 |ZfHT 2,373 |wEEeT 12,328 [ 887 | 34
35 [ KSENFT 40 |24 1,438 |=4 35,186 |FEHT 2,362 [/ LET 12,253 |Go0 T 886 | 35
36 | AR 40 |/NVPTIT 1,197 |/INVPrRT 34,983 |imENT 2,343 | A0FE 10,460 |=#H 862 | 36
37 | PR 39 | XJIvERT 1,146 |A<oFm 33,838 |/NEBTHT 2,294 |/NTET 10,107 I 847 | 37
38 | RO HT 39 [EEmET 1,081 |f&#EmT 27,623 |JI1I&HT 2,252 |SFLHiTHET 9,375 |/INMTET 844 | 38
39 [= 37 [ALmT 1,072 |SLRIET 26,925 |ZEpkT 2,251 |EsalT 9,312 |FHH 795 | 39
40 [tE T 25 [T 1,051 |12 HT 25,331 |/EmEHT 2,068 [/KEET 8,816 |ZEHmENT 781 | 40
41 |AKEmT 25 | FEHT 1,035 |40 HET 24,938 D& 2,064 | KJJFEmT 8,609 | K JIEHT 751 | 41
42 | [ 5 Ay 23 | K=ERFT 1,010 |/KERHET 24,892 |FEFMT 2,062 |fEZEMT 8,532 |imAMT 749 | 42
43 |TGEERT 21 |KEET 848 | &S 24,036 |AeFEH | 2,014 |[FE 8,182 |fitx 743 | 43
44 |/MrIT 21 |fGEEnT 822 | RJJBEHT 22,490 |f&%HNT 1,991 |m2HT 8,097 |HRE)I[HT 740 | 44
45 | 4RI 21 | &8 788 |fEsEHT 20,523 | KJIHEHT | 1,962 |/NERTH 7,983 |JI1IgFHT 720 | 45
46 [F BT 19 |l 4EmT 760 |f&E T 14,756 | RAERT 1,855 | e My 6,782 |fEHEET 708 | 46
47 |t T 19 |[fEEn 741 [HE)IET 13,978 |[E]LEmT 1,798 |f&%& T 6,605 |ZEkTi 689 | 47
48 [/NER T 18 [KoART 707 |FeIsEHT 13,661 & AT 1,761 |#EJI1HT 5,001 [ RAHET 684 | 48
49 |41 15 |BRET)I|HT 584 [Z& EHT 12,954 |#0)I1T 1,709 |FEHRHT 4,888 [#)Il 662 | 49
50 | /A LT 14 |FHNT 537 | RAHT 11,935 |JAHT 1,688 | RAHT 4,838 |k HHET 654 | 50
51 | A RHT 12 |FHTH 445 |FARHT 11,071 [K1=ET 1,649 |JRE() [T 4,324 | KEFI T 651 |51
52 | RS 10 [£E)11mT 382 [BRER)I[AT 8,775 |f@HET 1,588 |4 LAY 3,723 [¥1EAT 644 | 52
53 |5 H 10 [ZE EHT 321 [FEATH 7,837 | KJIlTH 1,579 |F A 3,540 |AF T 623 | 53
54 |48 |-HT 10 |Jiigmr 215 |5 =HT 5,474 |SpiHT 1,523 |5 =iy 2,602 |Hidst 606 | 54
55 [>% HHET 9 |F=HT 208 |[JIlIgFEYT 4,841 |RIGHS 1,520 |JIIIgFHT 1,549 |7#RAf 604 | 55
56 |11 165 AT 8 |HlgAt 133 | RAEHT 2,318 [ KEpyEifi | 1,516 |HUERS 807 |KAT-HT 552 | 56
57 | =&HT 8 | KALHT 125 |BlgEst 2,022 |HREJIET | 1,503 | RALHT 690 |XJIlHT 546 | 57
58 | KAEHT 6 | HET 95 [T 978 |#RF 1,077 [k HEHT 621 |SLRIAT 530 | 58
59 |RAF 5 |FRAT 26 |FRAF 280 |5& HHET 1,029 |74+ 157 |/NEBTH 443 | 59
60 | s T 3 [AsHHET 26 |YsHHET 53 |UsHAT 204 |¥sHET 41 |FSHET 156 | 60




